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Lewis Structures and the Octet Rule
Atoms will react with other atoms in an effort to become stable. Atoms become stable when they have eight valence electrons. A set of eight electrons is known as an octet, and the idea that atoms become stable when they have eight valence electrons is known as the octet rule.

Lewis structures diagram only the number of valence electrons present in an atom, so In order to draw a Lewis structure you need to know how many valence electrons there are. 
You can determine this in two different ways:


1.  Use the atom’s group number from the periodic table. For example, Oxygen 
(O) is in group 16.  For groups 13-18 you subtract 10 and that is the number of valence electrons.  So Oxygen has (16 – 10 = 6) 6 valence electrons.

2. You can determine how many electrons are in the previous energy levels. 
Again oxygen has 8 total electrons. Energy level 1 has 2 electrons, 
so 8 – 2 =6. That means there are 6 electrons in the last energy level. 



Steps





Example:  Oxygen

	Step 1: Count the Valence Electrons
	  6 Valence Electrons

	Step 2: Represent the first valence electron by drawing a dot on the right side of the chemical symbol.
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	Step 3: Put one dot on each side of the chemical symbol, continuing in a clockwise direction until all valence electrons are represented. 
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Draw the Lewis structures for the following elements.
	Element


	Lewis Structure

	1. Sodium


	

	2. Barium


	

	3. Calcium


	

	4. Sulfur


	

	5. Boron


	

	6. Carbon


	

	7. Neon


	

	8. Magnesium


	

	9. Aluminum


	


	Element


	Lewis Structure

	10. Nitrogen
	

	11. Fluorine

	

	12. Argon
	

	13. Hydrogen
	

	14. Tin


	

	15. Phosphorus


	

	16. Chlorine
	

	17. Helium
	

	18. Potassium
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